Nc\‘rbwo\\ Lg:—- Ivg"(fgvaf\'((ﬂ/\

rule: S—\;(o\x = x|+ ¢

E_X_\, .\_:MA(‘.
< X = 2 'M—‘: u
A j'i:? 5 o \»\\ \—\'C
uzx,g’ -2 \M\X’5\+C
au _ =
ﬁ, | du=dX
X
ax - L e o1 u
B j X ™) = JU Z-\hlu\ C
4= x%) 7 x4
Au
- = 2_)( AH:Z-XC\X oy
A L du = xdX = n (1) ¥ C
Z_L(/ 2
S P TS A

D SSQCX towX gy j de \v\\u\'\'C/

cecx —\

o= gecX“\

AU _ geextamx

aAX A
Au= Sec xemax AX



L
2 2 =L

hS e ™ g2 fastnlie
u= 5x+\ % ‘“\GXH\*C/ \
2\1:5 ldM—AX :
- Z\n||+ /(-\h\f]‘ff—)

e XX P
= InX \V\\\V\X s \
oL g X -
ax \v\\\wel\*'cf (\V\\\“a\ +C>
) \

Ao sec™k
A(J(' Jant+|

flor = o



“%'%‘k'\'

= \hlimmﬂ e -3—0—:-: Cech
4= In| b 11| HC e - n|usc
d= lwl +C
4= C
= \\A\lrm%ﬂ\Jr

EX(’{ ?(x\=¥m>« Find the average valie_
o HVeY \:o;%%]

l
-n’/q_,o SA—MXAX = ___.[ COS)(

= 2 - \n \COS% \+C — <-— \v\\cosb\+C>}

T
= u = -
F[——\Y\'z_'*_\\/‘giij




